
BOLLETTINO UNIONE MATEMATICA ITALIANA

S. N. MAHESHWARI

On the absolute summability factors of double infinite series.

Bollettino dell'Unione Matematica Italiana, Serie 3, Vol. 16
(1961), n.4, p. 367–378.

Zanichelli

<http://www.bdim.eu/item?id=BUMI_1961_3_16_4_367_0>

L'utilizzo e la stampa di questo documento digitale è consentito liberamente per motivi di ricerca e studio. Non è consentito l'utilizzo dello stesso per motivi commerciali. Tutte le copie di questo documento devono riportare questo avvertimento.

*Articolo digitalizzato nel quadro del programma
bdim (Biblioteca Digitale Italiana di Matematica)
SIMAI & UMI*

<http://www.bdim.eu/>

SEZIONE SCIENTIFICA

BREVI NOTE

On the absolute summability factors of double infinite series.

By S. N. MAHESHWARI (a Sagar, India) (*)

Summary. - In this paper the author has investigated the absolute summability factors of double infinite series. The theorem proved extends a result of Pati [11] to double series.

1. DEFINITION 1. - A double infinite series $\sum_{m,n} a_{m,n}$ is said to be absolutely summable (C, α, β) or summable (C, α, β) if

$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} |s_{m,n}^{x,\beta} - s_{m-1,n}^{x,\beta} - s_{m,n-1}^{x,\beta} + s_{m-1,n-1}^{x,\beta}| < \infty,$$

$$\sum_{m=1}^{\infty} |s_{m,0}^{x,\beta} - s_{m-1,0}^{x,\beta}| = \sum m^{-1} |t_m^x| < \infty,$$

$$\sum_{n=1}^{\infty} |s_{0,n}^{x,\beta} - s_{0,n-1}^{x,\beta}| = \sum n^{-1} |t_n^\beta| < \infty,$$

where $s_{m,n}^{x,\beta}$ and $t_{m,n}^{x,\beta}$ are the (c, α, β) mean of the sequence $\{s_{m,n}\}$ and $\{mna_{m,n}\}$ respectively and $s_{m,n}$ is the (m, n) th partial sum. This is known [14; 15; 16].

DEFINITION 2. We have

$$t_{m,n}^{x,\beta} = (A_m^\alpha A_n^\beta)^{-1} \sum_{k=0}^n \sum_{l=0}^m A_{m-1}^{x-1} A_{n-k}^{\beta-1} k l a_{l,k}$$

(*) Pervenuta alla Segreteria dell'U. M. I. il 4 Settembre 1961

$$t_m^\alpha = (A_m^\alpha)^{-1} \sum_{l=0}^m A_{m-l}^{\alpha-1} l a_{l,0}$$

$$\sum_{\nu=0}^{\infty} A_\nu^\rho x^\nu = (1-x)^{-\rho-1} \quad \text{for } |x| < 1,$$

and by definition [8; 13],

$$A_{-1}^\alpha = 0, \quad A_0^{-1} = 1, \quad A_m^{-1} = 0 (m \geq 1), \quad A_m^{-2} = 0 (m \geq 2),$$

$$A_m^\alpha = \begin{cases} \binom{m+\alpha}{m}, & (\alpha > -1), \\ (-1)^m \binom{-\alpha-1}{m}, & (\alpha \leq -1) \end{cases}$$

$$A_m^\alpha = \frac{\Gamma(m+\alpha+1)}{\Gamma(m+1)\Gamma(\alpha+1)},$$

$$\sim \frac{m^\alpha}{\Gamma(\alpha+1)}, \quad (\alpha \neq -1, -2, \dots).$$

DEFINITION 3. - For any sequence $\{\varepsilon_{m,n}\}$, we write

$$\Delta^{0,0} \varepsilon_{m,n} = \varepsilon_{m,n}$$

$$\Delta^{1,1} \varepsilon_{m,n} = \varepsilon_{m+1,n+1} - \varepsilon_{m,n+1} - \varepsilon_{m+1,n} + \varepsilon_{m,n}$$

$$\Delta^{\sigma,\rho} \varepsilon_{m,n} = \sum_{\mu=0}^{\infty} \sum_{\nu=0}^{\infty} A_\mu^{-\sigma-1} A_\nu^{-\rho-1} \varepsilon_{\mu+m, \nu+n}$$

provided this series is convergent. It is easy to show that [9]

$$\Delta^t, j \Delta^h, k \varepsilon_{m,n} = \Delta^{t+h, j+k} \varepsilon_{m,n}$$

$$(1.1) \quad \Delta^{h,k} (\delta_m \delta_n \bar{\varepsilon}_{m,n}) = \sum_{\mu=0}^h \sum_{\nu=0}^k \binom{h}{\mu} \binom{k}{\nu} \Delta^\mu \delta_m \Delta^\nu \delta_n \Delta^{h-\mu, k-\nu} \varepsilon_{m+\mu, n+\nu}.$$

We also write

$$\bar{\varepsilon}_{m, n} = \Delta \varepsilon_{m, n}$$

$$E^{\alpha, \rho; \beta, \sigma}(M, N, m, n) = \sum_{\mu=0}^M \sum_{\nu=0}^N A_{N-\nu}^{\rho-1} A_{M-\mu}^{\alpha-1} A_{\mu}^{-\rho-1} A_{\nu}^{-\sigma-1} \varepsilon_{\mu+m, \nu+n}$$

$$\bar{E}^{\alpha, \rho; \beta, \sigma}(M, N, m, n) = \sum_{\mu=0}^M \sum_{\nu=0}^N A_{N-\nu}^{\rho-1} A_{M-\mu}^{\alpha-1} A_{\mu}^{-\rho-1} A_{\nu}^{-\sigma-1} \bar{\varepsilon}_{\mu+m, \nu+n}$$

$$\bar{E}^{\alpha, \rho; \beta, \sigma}(M, N, m, n) = \sum_{\mu=0}^M \sum_{\nu=0}^N A_{N-\nu}^{\rho-1} A_{M-\mu}^{\alpha-1} A_{\mu}^{-\rho-1} A_{\nu}^{-\sigma-1} \Delta^{1, 0} \varepsilon_{\mu+m, \nu+n}$$

$$\bar{E}^{\alpha, \rho; \beta, \sigma}(M, N, m, n) = \sum_{\mu=0}^M \sum_{\nu=0}^N A_{N-\nu}^{\rho-1} A_{M-\mu}^{\alpha-1} A_{\mu}^{-\rho-1} A_{\nu}^{-\sigma-1} \Delta^{0, 1} \varepsilon_{\mu+m, \nu+n}$$

$$T_{m, n}^{\alpha, \beta} = \sum_{\mu=1}^m \sum_{\nu=1}^n (\mu\nu)^{-1} t_{\mu, \nu}^{\alpha, \beta}$$

so that

$$E^{\alpha, \rho; \beta, \sigma}(-1, -1, m, n) = 0, \quad E^{\alpha, \rho, \beta, \sigma}(-1, N, m, n) = 0,$$

$$E^{\alpha, \rho; \beta, \sigma}(M, -1, m, n) = 0, \quad T_{0, 0}^{\alpha, \beta} = 0.$$

2. In 1908 BROMWICH [2] proved a theorem on convergence factors in series summable by CESÀRO-means of integral order which included the various previous results. An extension of BROMWICH'S theorem to series summable by CESÀRO means of non-integral order was given by CHAPMAN [3] in 1911. In 1912, in connection with the summability (C, 1, 1) of the double FOURIER series and its application to certain problems of mathematical physics, C. N. MOORE [9] extended BROMWICH'S theorem on the summability factors of simple infinite series to the case of double FOURIER series. In 1922, EVERSULL [7] gave the analogous extension to triple series.

Absolute summability factors of FOURIER series were first considered by PRASAD [12] in 1933. Various results concerning these investigations are due to CHENG [4], CHOW [5] PAL [10] and others.

We prove the following theorem:

THEOREM. - If α, β are integers ≥ 0 , and if

$$s_{m,n}^{\alpha,\beta} = O(\lambda_m \lambda_n), \quad s_{m,0}^{\alpha,\beta} = O(\lambda_m), \quad s_{0,n}^{\alpha,\beta} = O(\lambda_n),$$

where λ_m, λ_n are positive, monotonic, non-decreasing sequences, then the sufficient conditions that $\sum \sum a_{m,n} \varepsilon_{m,n}$ should be summable $|C, \alpha, \beta|$ are

$$\sum \sum \lambda_m \lambda_n | \varepsilon_{m,n} | < \infty,$$

$$\sum \sum m^\alpha n^\beta \lambda_m \lambda_n | \Delta^{\alpha+1, \beta+1} \varepsilon_{m,n} | < \infty,$$

$$\lambda_m \sum \lambda_n | \varepsilon_{m,n} | < \infty,$$

$$\lambda_n \sum \lambda_m | \varepsilon_{m,n} | < \infty,$$

$$m^\alpha \lambda_m \sum n^\beta \lambda_n | \Delta^{0, \beta+1} \varepsilon_{m,n} | < \infty,$$

$$n^\beta \lambda_n \sum m^\alpha \lambda_m | \Delta^{\alpha+1, 0} \varepsilon_{m,n} | < \infty.$$

This extends a result of PATI [11] to double series.

3. We require the following lemmas :

LEMMA 1. - If $\sigma > -1$, and $\sigma - \delta > 0$, then

$$\sum_{n=v}^{\infty} \frac{A_{n-v}^\delta}{n A_n^\sigma} = \sum_{n=0}^{\infty} \frac{A_n^\delta}{(n+v) A_{n+v}^\sigma} = \frac{1}{v A_v^{\sigma-\delta-1}}.$$

This is known [6].

LEMMA 2. - If $p > 0, q > 0$, and $\{\lambda_m\}, \{\lambda_n\}$, are the positive, monotonic, non-decreasing sequences, and

$$\sum \sum n^p m^q | \Delta^{q+1, p+1} \varepsilon_{m,n} | \lambda_m \lambda_n < \infty$$

then

$$\sum \sum n^{p_1} m^{q_1} | \Delta^{q_1+1, p_1+1} \varepsilon_{m,n} | \lambda_m \lambda_n < \infty,$$

for every p_1, q_1 , such that $0 \leq p_1 \leq p, 0 \leq q_1 \leq q$.

The proof runs parallel to lemma 2 of BOSANQUET [1].

LEMMA 3. - If $\alpha > 0, \beta > 0, \rho > 0, \sigma < 0$, then

$$\left. \begin{aligned} E^{\alpha, \rho; \beta, \sigma}(M, N, m, n) \\ \bar{E}^{\alpha, \rho; \beta, \sigma}(M, N, m, n) \end{aligned} \right\} = \sum_{l=0}^h \sum_{r=0}^k \binom{h}{l} \binom{k}{r} \sum_{\mu=0}^M \sum_{\nu=0}^N A_{N-\nu}^{\beta-l-1} A_{M-\mu}^{\alpha-l-1} A_{\nu}^{-\sigma+k-1} \\ A_{\mu}^{-\rho+h-1} \Delta_{h-l, k-r} \left\{ \begin{aligned} \varepsilon_{\mu+m+l, \nu+n+r} \\ \varepsilon_{\mu+m+l, \nu+n+r} \end{aligned} \right.$$

This can be obtained by applying partial summation and using (1.1).

4. Proof of the theorem. Let $x_{m,n} = x_{m,n}^{0,0} = mna_{m,n} \varepsilon_{m,n}$ and let $\tau_{m,n}^{\alpha, \beta}$ denote the (m, n) th CESARO mean of order α, β , of the sequence $\{x_{m,n}\}$. By hypothesis and definition, we get

$$\begin{aligned} T_{m,n}^{\alpha, \beta} &= O(\lambda_m \lambda_n) \quad \text{as } (m, n) \rightarrow \infty, \\ T_{m,0}^{\alpha, \beta} &= O(\lambda_m) \quad \text{as } m \rightarrow \infty, \\ T_{0,n}^{\alpha, \beta} &= O(\lambda_n) \quad \text{as } n \rightarrow \infty. \end{aligned}$$

The case $\alpha = \beta = 0$ is obvious. Let us consider the case $\alpha \geq 1, \beta \geq 1$. We have

$$\begin{aligned} A_m^{\alpha} A_n^{\beta} \tau_{m,n}^{\alpha, \beta} &= \sum_{\mu=1}^m \sum_{\nu=1}^n A_{n-\nu}^{\beta-1} A_{m-\mu}^{\alpha-1} a_{\mu, \nu} \varepsilon_{\mu, \nu} \\ &= \sum_{\mu=1}^m \sum_{\nu=1}^n A_{n-\nu}^{\beta-1} A_{m-\mu}^{\alpha-1} \varepsilon_{\mu, \nu} \sum_{l=1}^{\mu} \sum_{k=1}^{\nu} A_{\nu-k}^{\beta-1} A_{\mu-l}^{\alpha-1} A_l^{\alpha} A_k^{\beta} t_{l,k}^{\alpha, \beta} \\ &= \sum_{l=1}^m \sum_{k=1}^n A_l^{\alpha} A_k^{\beta} t_{l,k}^{\alpha, \beta} \sum_{\mu=0}^{m-l} \sum_{\nu=0}^{n-k} A_{n-k-\nu}^{\beta-1} A_{m-l-\mu}^{\alpha-1} A_{\nu}^{-\beta-1} \\ & \hspace{20em} A_{\mu}^{-\alpha-1} \varepsilon_{\mu+l, \nu+k} \\ &= \sum_{l=1}^m \sum_{k=1}^n A_l^{\alpha} A_k^{\beta} t_{l,k}^{\alpha, \beta} E^{\alpha, \alpha; \beta, \beta}(m-l, n-k, l, k) \\ &= \sum_{l=1}^m \sum_{k=1}^n lk A_l^{\alpha} A_k^{\beta} E^{\alpha, \alpha; \beta, \beta}(m-l, n-k, l, k) \cdot \frac{t_{l,k}^{\alpha, \beta}}{lk}. \end{aligned}$$

Hence by ABEL'S transformation, we have

$$\begin{aligned}
 & A_m^\alpha A_n^{\beta, \alpha, \beta} \\
 &= \sum_{l=1}^{m-1} \sum_{k=1}^{n-1} \Delta^{l, k} | lk A_l^\alpha A_k^\beta E^{\alpha, \alpha; \beta, \beta}(m-l, n-k, l, k) | T_{l, k}^{\alpha, \beta} \\
 &+ \sum_{k=1}^{n-1} \Delta^{0, k} | m A_m^\alpha k A_k^\beta E^{\alpha, \alpha; \beta, \beta}(0, n-k, m, k) | T_{m, k}^{\alpha, \beta} \\
 &+ \sum_{l=1}^{m-1} \Delta^{l, 0} | n A_n^\beta l A_l^\alpha E^{\alpha, \alpha; \beta, \beta}(m-l, 0, l, n) | T_{l, n}^{\alpha, \beta} \\
 &+ mn A_m^\alpha A_n^\beta E^{\alpha, \alpha; \beta, \beta}(0, 0, m, n) T_{m, n}^{\alpha, \beta} \\
 &= \sum_{l=1}^m \sum_{k=1}^n \Delta^{l, k} | lk A_l^\alpha A_k^\beta E^{\alpha, \alpha; \beta, \beta}(m-l, n-k, l, k) | T_{l, k}^{\alpha, \beta} \\
 &+ m A_m^\alpha \sum_{k=1}^n \Delta^{0, k} | k A_k^\beta E^{\alpha, \alpha; \beta, \beta}(0, n-k, m, k) | T_{m, k}^{\alpha, \beta} \\
 &+ n A_n^\beta \sum_{l=1}^m \Delta^{l, 0} | l A_l^\alpha E^{\alpha, \alpha; \beta, \beta}(m-l, 0, l, n) | T_{l, n}^{\alpha, \beta} \\
 &= \sum_{l=1}^m \sum_{k=1}^n \Delta^{l, k} (lk A_l^\alpha A_k^\beta) E^{\alpha, \alpha; \beta, \beta}(m-l, n-k, l, k) T_{l, k}^{\alpha, \beta} \\
 &+ \sum_{l=1}^m \sum_{k=1}^n (l+1)(k+1) A_{k+1}^\beta A_{l+1}^\alpha \Delta^{l, k} \\
 &| E^{\alpha, \alpha; \beta, \beta}(m-l, n-k, l, k) | T_{l, k}^{\alpha, \beta} \\
 &+ \text{other similar expressions.}
 \end{aligned}$$

Now,

$$\begin{aligned}
 & \Delta^{l, k} E^{\alpha, \alpha; \beta, \beta}(m-l, n-k, l, k) \\
 &= \sum_{\mu=0}^{m-l} \sum_{\nu=0}^{n-k} A_{n-k-\nu}^{\beta-1} A_\nu^{-\beta-1} A_{m-l-\mu}^{\alpha-1} A_\mu^{-\alpha-1} \epsilon_{\mu+l, \nu+k} \\
 &- \sum_{\mu=0}^{m-l-1} \sum_{\nu=0}^{n-k} A_{n-k-\nu}^{\beta-1} A_\nu^{-\beta-1} A_{m-l-\mu-1}^{\alpha-1} A_\mu^{-\alpha-1} \epsilon_{\mu+l+1, \nu+k}
 \end{aligned}$$

$$\begin{aligned}
 & - \sum_{\mu=0}^{m-l} \sum_{\nu=0}^{n-k-1} A_{n-k-\nu-1}^{\beta-1} A_{\nu}^{-\beta-1} A_{m-l-\mu}^{\alpha-1} A_{\nu}^{-\alpha-1} \varepsilon_{\mu+l, \nu+k+1} \\
 & + \sum_{\mu=0}^{m-l-1} \sum_{\nu=0}^{n-k-1} A_{n-k-\nu-1}^{\beta-1} A_{\nu}^{-\beta-1} A_{m-l-\mu-1}^{\alpha-1} A_{\mu}^{-\alpha-1} \varepsilon_{\mu+l+1, \nu+k+1} \\
 = & \sum_{\mu=0}^{m-l-1} \sum_{\nu=0}^{n-k-1} A_{\mu}^{-\alpha-1} A_{\nu}^{-\beta-1} \{ \Delta^l, k \} A_{n-k-\nu}^{\beta-1} A_{m-l-\mu}^{\alpha-1} \varepsilon_{\mu+l, \nu+k+1} \\
 & + A_{n-k}^{-\beta-1} A_{m-l}^{-\alpha-1} \varepsilon_{m, n} - A_{n-k}^{-\beta-1} \sum_{\mu=0}^{m-l-1} A_{m-l-\mu-1}^{\alpha-1} A_{\mu}^{-\alpha-1} \varepsilon_{\mu+l+1, n} \\
 & - A_{m-l}^{-\alpha-1} \sum_{\nu=0}^{n-k-1} A_{n-k-\nu-1}^{\beta-1} A_{\nu}^{-\beta-1} \varepsilon_{m, \nu+k+1} \\
 = & \sum_{\mu=0}^{m-l-1} \sum_{\nu=0}^{n-k-1} A_{\mu}^{-\alpha-1} A_{\nu}^{-\beta-1} A_{m-l-\mu}^{\alpha-1} A_{n-k-\nu}^{\beta-1} \{ \Delta^l, k \} \varepsilon_{\mu+l, \nu+k+1} \\
 & + \sum_{\mu=0}^{m-l-1} \sum_{\nu=0}^{n-k-1} A_{\mu}^{-\alpha-1} A_{\nu}^{-\beta-1} A_{n-k-\nu}^{\beta-1} A_{m-l-\mu}^{\alpha-2} \{ \Delta^0, k \} \varepsilon_{\mu+l+1, \nu+k+1} \\
 & + \sum_{\mu=0}^{m-l} \sum_{\nu=0}^{n-k-1} A_{\mu}^{-\alpha-1} A_{\nu}^{-\beta-1} A_{m-l-\mu}^{\alpha-1} A_{n-k-\nu}^{\beta-2} \{ \Delta^l, k \} \varepsilon_{\mu+l, \nu+k+1} \\
 & + \sum_{\mu=0}^{m-l-1} \sum_{\nu=0}^{n-k-1} A_{\mu}^{-\alpha-1} A_{\nu}^{-\beta-1} A_{m-l-\mu}^{\alpha-2} A_{n-k-\nu}^{\beta-2} \{ \varepsilon_{\mu+l+1, \nu+k+1} \} \\
 & + A_{m-l}^{-\alpha-1} A_{n-k}^{-\beta-1} \varepsilon_{m, n} - A_{n-k}^{-\beta-1} \sum_{\mu=0}^{m-l-1} A_{m-l-\mu-1}^{\alpha-1} A_{\mu}^{-\alpha-1} \varepsilon_{\mu+l+1, n} \\
 & - A_{m-l}^{-\alpha-1} \sum_{\nu=0}^{n-k-1} A_{n-k-\nu-1}^{\beta-1} A_{\nu}^{-\beta-1} \varepsilon_{m, \nu+k+1} \\
 = & \sum_{\mu=0}^{m-l} \sum_{\nu=0}^{n-k} A_{\mu}^{-\alpha-1} A_{\nu}^{-\beta-1} A_{m-l-\mu}^{\alpha-1} A_{n-k-\nu}^{\beta-1} \{ \Delta^l, k \} \varepsilon_{\mu+l, \nu+k+1} \\
 & + \sum_{\mu=0}^{m-l} \sum_{\nu=0}^{n-k} A_{\mu}^{-\alpha-1} A_{\nu}^{-\beta-1} A_{n-k-\nu}^{\beta-1} A_{m-l-\mu}^{\alpha-2} \{ \Delta^0, k \} \varepsilon_{\mu+l+1, \nu+k+1}
 \end{aligned}$$

$$\begin{aligned}
 & + \sum_{\mu=0}^{m-l} \sum_{\nu=0}^{n-k} A_{\mu}^{-\alpha-1} A_{\nu}^{-\beta-1} A_{n-k-\nu}^{\beta-2} A_{m-l-\mu}^{\alpha-1} |\Delta^l, {}_0\varepsilon_{\mu+l, \nu+k+1}| \\
 & + \sum_{\mu=0}^{m-l} \sum_{\nu=0}^{n-k} A_{\mu}^{-\alpha-1} A_{\nu}^{-\beta-1} A_{n-k-\nu}^{\beta-2} A_{m-l-\mu}^{\alpha-2} |\varepsilon_{\mu+l+1, \nu+k+1}| \\
 = & \bar{E}^{\alpha, \alpha; \beta, \beta}(m-l, n-k, l, k) + \bar{E}_k^{\alpha, \alpha-1; \beta, \beta}(m-l, n-k, l+1, k) \\
 & + \bar{E}_l^{\alpha, \alpha; \beta, \beta-1}(m-l, n-k, l, k+1) + E^{\alpha, \alpha-1; \beta, \beta-1} \\
 & \hspace{15em} (m-l, n-k, l+1, k+1)
 \end{aligned}$$

Hence

$$\begin{aligned}
 & A_m^{\alpha} A_n^{\beta, \alpha, \beta} \\
 = & \sum_{l=1}^m \sum_{k=1}^n \Delta^{l, k} (lk A_l^{\alpha} A_k^{\beta}) E^{\alpha, \alpha; \beta, \beta}(m-l, n-k, l, k) T_{l, k}^{\alpha, \beta} \\
 & + \sum_{l=1}^m \sum_{k=1}^n (l+1)(k+1) A_{l+1}^{\alpha} A_{k+1}^{\beta} \bar{E}^{\alpha, \alpha; \beta, \beta}(m-l, n-k, l, k) T_{l, k}^{\alpha, \beta} \\
 & + \sum_{l=1}^m \sum_{k=1}^n (l+1)(k+1) A_{l+1}^{\alpha} A_{k+1}^{\beta} \bar{E}^{\alpha, \alpha-1; \beta, \beta} \\
 & \hspace{15em} (m-l, n-k, l+1, k) T_{l, k}^{\alpha, \beta} \\
 & + \sum_{l=1}^m \sum_{k=1}^n (l+1)(k+1) A_{l+1}^{\alpha} A_{k+1}^{\beta} \bar{E}^{\alpha, \alpha; \beta, \beta-1} \\
 & \hspace{15em} (m-l, n-k, l, k+1) T_{l, k}^{\alpha, \beta} \\
 & + \sum_{l=1}^m \sum_{k=1}^n (l+1)(k+1) A_{l+1}^{\alpha} A_{k+1}^{\beta} E^{\alpha, \alpha-1; \beta, \beta-1} \\
 & \hspace{15em} (m-l, n-k, l+1, k+1) T_{l, k}^{\alpha, \beta} \\
 & + \text{similar expressions.}
 \end{aligned}$$

Therefore

$$\begin{aligned}
 & \sum_2^{\infty} \sum_2^{\infty} (mn)^{-1} |\tau_{m, n}^{\alpha, \beta}| \\
 & \leq \sum \sum (mn A_m^{\alpha} A_n^{\beta})^{-1} \dots n (mn A_m^{\alpha} A_n^{\beta}) || \varepsilon_{m, n} || | T_{m, n}^{\alpha, \beta} |
 \end{aligned}$$

$$\begin{aligned}
 & + \sum \sum (mnA_m^\alpha A_n^\beta)^{-1} (m+1)(n+1) A_{m+1}^\alpha A_{n+1}^\beta | \Delta \varepsilon_{m,n} | | T_{m,n}^{\alpha,\beta} \\
 & + \sum \sum (mnA_m^\alpha A_n^\beta)^{-1} (m+1)(n+1) A_{m+1}^\alpha A_{n+1}^\beta | \varepsilon_{m+n,n+1} | | T_{m,n}^{\alpha,\beta-} \\
 & + \sum \sum (mnA_m^\alpha A_n^\beta)^{-1} \sum_{l=1}^{m-1} \sum_{k=1}^{n-1} | \Delta^{l,k} (lkA_l^\alpha A_k^\beta) | \\
 & \quad | F_{l,k}^{\alpha,\beta} (m-l, n-k, l) \\
 & + \sum \sum (mnA_m^\alpha A_n^\beta)^{-1} \sum_{l=1}^{m-1} \sum_{k=1}^{n-1} (l+1)(k+1) A_{l+1}^\alpha A_{k+1}^\beta \\
 & \quad | \bar{E}^{\alpha,\beta} (m-l, n-k, l, k) | | T_{l,k}^{\alpha,\beta} | \\
 & + \sum \sum (mnA_m^\alpha A_n^\beta)^{-1} \sum_{l=1}^{m-2} \sum_{k=1}^{n-2} (l+1)(k+1) A_{l+1}^\alpha A_{k+1}^\beta \\
 & \quad | E^{\alpha,\beta-1} (m-l, n-k, l+1, k+1) | | T_{l,k}^{\alpha,\beta} \\
 & + \sum \sum (mnA_m^\alpha A_n^\beta)^{-1} \sum_{l=1}^{m-1} \sum_{k=1}^{n-1} (l+1)(k+1) A_{l+1}^\alpha A_{k+1}^\beta \\
 & \quad | \bar{E}_k^{\alpha,\beta-1} (m-l, n-k, l+1, k) | | T_{l,k}^{\alpha,\beta} \\
 & + \sum \sum (mnA_m^\alpha A_n^\beta)^{-1} \sum_{l=1}^{m-1} \sum_{k=1}^{n-1} (l+1)(k+1) A_{l+1}^\alpha A_{k+1}^\beta \\
 & \quad | \bar{E}_l^{\alpha,\beta-1} (m-l, n-k, l, k+1) | | T_{l,k}^{\alpha,\beta} | \\
 & + \text{ other terms of the same form.}
 \end{aligned}$$

Thus it suffice for our purpose to show that

$$(4.1) \quad \sum \sum (mn)^{-1} \lambda_m \lambda_n | \varepsilon_{m,n} | < \infty,$$

$$(4.2) \quad \sum \sum \lambda_m \lambda_n | \Delta \varepsilon_{m,n} | < \infty,$$

$$(4.3) \quad \sum \sum \lambda_m \lambda_n | \varepsilon_{m+1,n+1} | < \infty,$$

$$(4.4) \quad \sum_{k=1}^{\infty} \sum_{l=1}^{\infty} A_l^{\alpha} A_k^{\beta} \lambda_k \lambda_l \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{|E^{\alpha, \alpha; \beta, \beta}(m, n, l, k)|}{(n+k)(m+l)A_{n+k}^{\beta} A_{m+l}^{\alpha}} < \infty.$$

$$(4.5) \quad \sum_{k=1}^{\infty} \sum_{l=1}^{\infty} A_l^{\alpha+1} A_k^{\beta+1} \lambda_k \lambda_l \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{|\bar{E}^{\alpha, \alpha; \beta, \beta}(m, n, l, k)|}{(n+k)(m+l)A_{n+k}^{\beta} A_{m+l}^{\alpha}} < \infty,$$

$$(4.6) \quad \sum_{k=1}^{\infty} \sum_{l=1}^{\infty} A_l^{\alpha+1} A_k^{\beta+1} \lambda_k \lambda_l \sum_2^{\infty} \sum_2^{\infty} \frac{|E^{\alpha, \alpha-1; \beta, \beta-1}(m, n, l+1, k+1)|}{(n+k)(m+l)A_{n+k}^{\beta} A_{m+l}^{\alpha}} < \infty,$$

$$(4.7) \quad \sum_{k=1}^{\infty} \sum_{l=1}^{\infty} A_l^{\alpha+1} A_k^{\beta+1} \lambda_k \lambda_l \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{|\bar{E}^{\alpha, \alpha; \beta, \beta-1}(m, n, l, k+1)|}{(n+k)(m+l)A_{n+k}^{\beta} A_{m+l}^{\alpha}} < \infty,$$

$$(4.8) \quad \sum_{k=1}^{\infty} \sum_{l=1}^{\infty} A_l^{\alpha+1} A_k^{\beta+1} \lambda_k \lambda_l \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{|\bar{E}^{\alpha, \alpha-1, \beta, \beta}(m, n, l+1, k)|}{(n+k)(m+l)A_{n+k}^{\beta} A_{m+l}^{\alpha}} < \infty.$$

The inequalities from (4.1) to (4.3) follow from the hypothesis. Out of the remaining, we shall consider the typical ones.

By lemma 3, since $m \geq 1, n \geq 1, 0 \leq r \leq \alpha - 1, 0 \leq \delta \leq \beta - 1$, we have

$$\begin{aligned} & \sum_{l=1}^{\infty} \sum_{k=1}^{\infty} A_l^{\alpha} A_k^{\beta} \lambda_k \lambda_l \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{A_m^{\alpha-r-1} A_n^{\beta-\delta-1} |\Delta^{\alpha-r, \beta-\delta}(l+r, k+\delta)|}{(n+k)(m+l)A_{n+k}^{\beta} A_{m+l}^{\alpha}} \\ & \leq \sum_{l=1}^{\infty} \sum_{k=1}^{\infty} A_l^{\alpha} A_k^{\beta} \lambda_k \lambda_l |\Delta^{\alpha-r, \beta-\delta}(l+r, k+\delta)| \\ & \qquad \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{A_m^{\alpha-r-1} A_n^{\beta-\delta-1}}{(n+k)(m+l)A_{n+k}^{\beta} A_{m+l}^{\alpha}} \\ & = \sum_{l=1}^{\infty} \sum_{k=1}^{\infty} |A_l^{\alpha} A_k^{\beta} \lambda_k \lambda_l |\Delta^{\alpha-r, \beta-\delta}(l+r, k+\delta)| \frac{1}{k A_k^{\beta} l A_l^{\alpha}} \\ & \leq K \sum_{k=1}^{\infty} \sum_{l=1}^{\infty} k^{\beta-\delta-1} l^{\alpha-r-1} \lambda_k \lambda_l |\Delta^{\alpha-r, \beta-\delta}(l+r, k+\delta)| < \infty, \end{aligned}$$

by hypothesis and lemma 2. This proves (4.4).

Again

$$\begin{aligned} & \sum_{l=1}^{\infty} \sum_{k=1}^{\infty} A_l^{\alpha+1} A_k^{\beta+1} \lambda_k \lambda_l \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{A_m^{\alpha-r-1} A_n^{\beta-1} \Delta^{\alpha-r, \beta-\delta} \varepsilon_{l+r, k+\delta}}{(m+l)(n+k) A_{m+l}^{\alpha} A_{n+k}^{\beta}} \\ & \leq \sum_{l=1}^{\infty} \sum_{k=1}^{\infty} A_l^{\alpha+1} A_k^{\beta+1} \lambda_k \lambda_l \Delta^{\alpha-r+1, \beta-\delta+1} \varepsilon_{l+r, k+\delta} \\ & \qquad \qquad \qquad \sum_0^{\infty} \sum_0^{\infty} \frac{A_m^{\alpha-r-1} A_n^{\beta-1}}{(n+k)(m+l) A_{n+k}^{\beta} A_{m+l}^{\alpha}} \\ & = \sum_{l=1}^{\infty} \sum_{k=1}^{\infty} A_l^{\alpha+1} A_k^{\beta+1} \lambda_k \lambda_l \Delta^{\alpha-r+1, \beta-\delta+1} \varepsilon_{l+r, k+\delta} \left| \frac{1}{k A_k l A_l^r} \right| \\ & \leq K \sum_{l=1}^{\infty} \sum_{k=1}^{\infty} k^{\beta-\delta} l^{\alpha-r} \lambda_k \lambda_l \Delta^{\alpha-r+1, \beta-\delta+1} \varepsilon_{l+r, k+\delta} < \infty, \end{aligned}$$

by hypothesis lemma 1 and lemma 2. This proves (4.5).

Also, since $n \geq 2, m \geq 2$, then for $0 \leq r \leq \alpha - 2, 0 \leq \delta \leq \beta - 2$, we have

$$\begin{aligned} & \sum_{l=1}^{\infty} \sum_{k=1}^{\infty} A_l^{\alpha+1} A_k^{\beta+1} \lambda_k \lambda_l \sum_{m=2}^{\infty} \sum_{n=2}^{\infty} \frac{A_m^{\alpha-r-2} A_n^{\beta-\delta-2} \Delta^{\alpha-r, \beta-\delta} \varepsilon_{l+r+1, k+\delta+1}}{(n+k)(m+l) A_{n+k}^{\beta} A_{m+l}^{\alpha}} \\ & \leq \sum_{l=1}^{\infty} \sum_{k=1}^{\infty} A_l^{\alpha+1} A_k^{\beta+1} \lambda_k \lambda_l \Delta^{\alpha-r, \beta-\delta} \varepsilon_{l+r+1, k+\delta+1} \\ & \qquad \qquad \qquad \sum_0^{\infty} \sum_0^{\infty} \frac{A_n^{\beta-\delta-2} A_m^{\alpha-r-2}}{(n+k)(m+l) A_{n+k}^{\beta} A_{m+l}^{\alpha}} \\ & = \sum_{l=1}^{\infty} \sum_{k=1}^{\infty} A_l^{\alpha+1} A_k^{\beta+1} \lambda_k \lambda_l \Delta^{\alpha-r, \beta-\delta} \varepsilon_{l+r+1, k+\delta+1} \left| \frac{1}{k A_k^{\delta+1} l A_l^{r+1}} \right| \\ & \leq K \sum_{l=1}^{\infty} \sum_{k=1}^{\infty} l^{\alpha-r-1} k^{\beta-\delta-1} \lambda_k \lambda_l \Delta^{\alpha-r, \beta-\delta} \varepsilon_{l+r+1, k+\delta+1} < \infty, \end{aligned}$$

by hypothesis, lemma 1 and lemma 2. This proves (4.6).

The remaining inequalities will follow in the same way. Thus

$$\sum \sum (mn)^{-1} \left| t_{m,n}^{\alpha, \beta} \right| < \infty.$$

Similarly,

$$\sum m^{-1} |t_m^2| < \infty; \quad \sum n^{-1} |t_n^2| < \infty.$$

This completes the proof of the theorem

I am indebted to Prof. M. L. MISRA for his kind interest and advice in the preparation of this paper.

REFERENCES

- [1] BOSANQUET, L. S., *Note on the Bohr-Hardy theorem*, « Jour. London Math. Soc. », 17 (1942), 166-173.
- [2] BROMWICH, T. J. I' A., *On the limits of certain infinite series and integrals*, « Mathematische Annalen », 65 (1908), 350-369.
- [3] CHAPMAN, S., *On non-integral orders of summability of series and integrals*, « Proc. London Math. Soc. », (2), 9 (1910), 369-409.
- [4] CHENG, M. T., *Summability factors of Fourier series*, « Duke Math. Jour. » 15 (1948), 17-27.
- [5] CHOW, H. C., *On the summability factors of fourier series*, « Jour. London Math. Soc. », 16 (1941), 215-220.
- [6] CHOW, H. C., *Note on convergence and summability factors*, « Jour. London Math. Soc. », 29 (1954), 459-476.
- [7] EVERSULL, B. M., *On convergence factors in triple series and the triple Fourier's series*, « Annals of Math. », (2), 24 (1922-23), 141-166.
- [8] HARDY, G. H., *Divergent series*, (Oxford), 1949.
- [9] MOORE, C. N., *Summable series and convergence factors*, « Amer. Math. Soc. Colloquim publication », 22 (1933), New-York.
- [10] PATI, T., *The summability factors of infinite series*, « Duke Math. Jour. », 21 (1954), 271-283.
- [11] PATI, T., *On the absolute summability factors of infinite series*, « Tohoku Math Jour. », (2), 12 (1960), 222-232.
- [12] PRASAD, B. N., *On summability of Fourier series and bounded variation of power series*, « Proc. London Math. Soc. », (2), 35 (1933), 407-424.
- [13] SANSONE, G., *Orthogonal functions*, Revised English edition (1959).
- [14] SPRANGES, W. H., *On the absolute Cesàro summability of double Fourier series*, « Abstract Bull. Amer. Math. Soc. », R. N. 254. (1948).
- [15] TIMAN, M. F., *On absolute summability of Fourier series in two variables*, « Soobse Akad Nauk Gruzin S. S. R. », 17 (1956), 481-488 (Russian).
- [16] ŽAK, I. E., *Absolute summability of double numerical series*. « Doklady Akad. Nauk. S. S. S. R. », N. S. 73 (1950), 639-642 (Russian).